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ECO-14 : ACCOUNTANCY-II

Time : 2 hours Maximum Marks : 50
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Note : Attempt any four questions including question

no. 1 which is compulsory.

1.  Attempt any two of the following questions : 7.7
(a) What 1is meant by Departmental

Accounts ? Explain their significance.

(b) What are the journal entries made for the
forfeiture of shares and their re-issue ?

(c) Give five points of differences between an
equity share and a debenture.

(d) Write short note on ‘Profit prior to
incorporation” of company with suitable

examples.
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2. A and B were partners sharing profits and losses 12
in the ratio of 2 : 1 with capitals of Rs. 40,000 and
Rs. 30,000 respectively. They admitted C with a
condition that he would bring Rs. 20,000 as capital

1
and Rs. 6,000 for his share of goodwill for Zth

share of profits. Half of the amount of goodwill
credited to their accounts was withdrawn by
existing partners. The capital of the partners in
the new firm is to be arranged in their new profit
sharing ratio on the basis of C’s capital and excess
or deficit capital to be adjusted by payment/
receipt in cash. Show the capital accounts of the
partners and the cash account.

3.  Harish purchased a tractor from Escorts Ltd. on 12
hire purchase, the cash price of which was
Rs. 22,000, Rs. 2,000 were paid immediately and
the balance to be paid in 4 annual instalments of
Rs. 5,000 each at the end of each year with interest
@ 8% per annum. The depreciation is to be
charged at 10% per annum on written down
value method. Harish paid two instalments and
failed to pay the third instalment. Escorts Ltd.
took away the tractor by paying him Rs. 9,000 in
cash. Prepare necessary accounts in the books of
Harish.

4. AB Ltd. invited applications for 1,00,000 equity 12
shares of Rs. 100 each issued at a discount of 10%.
The amount was payable as follows :

Rs.
On application 30
On allotment 20
On I* and final call balance
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Applications for 1,50,000 shares were received
out of which 30,000 shares application was
rejected and pro-rata allotment was made to the
remaining applicants. All calls were made and
duly received except the First and Final call on
1,000 shares held by Mr. Ram. His shares were
forfeited and out of shares forfeited 700 shares
were re-issued at Rs. 120 per share fully paid up
pass journal entries in the books of AB Ltd.

5. What is Stock Turnover Ratio ? How it is
calculated ? What are the implications of high
and low stock turnover ratios ? Explain with
examples. 2,4, 6

6.  Write short notes on the following : 6, 6

(a) Goods in Transit
(b) Branch Adjustment Account
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1,50,000 9% & few afm@ed o Wi gY1 30,000
ST o ATAET U ST Tehd Y fou U qe1 319 e
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5. W% AEd FIIE (Stock Turnover Ratio) &1 &2
TAHRT TUAT FH FT A 27 o9 Wi Sed HI
U1 f=1 ik armad A9 T fagen (Implications)
1 E 7 BETER0N Wfed AR Hifo | 2,4,6

6. Trafafad w wiea fewfirat fafa - 6, 6
(a) W O (Goods in Transit)
(b) ST HHMESH @Tal
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